22625 ETA-8 RIGID LOW HEADROOM END TRUCK

STOCK
REF.| CODE DESCRIPTION QUANTITY

20024 | ETA-8 Three Hole Mount Trolley
60050 | ETA-8 Low Head. ET Load Bar
52455 | M16x2.0 Nylon Insert Lock Nut
51851 | M12x1.75 x 150mm HHB

51890 | M16x2.0 x 90mm HHB

25630 | ETA-8 Safety Cable Assembly
59920 | ETA-8 Inner Stop

25553 | ETA-8 Splice Bar Assembly
60055 | ETA-8 Low Headroom ET Block
10 52445 | M12x1.75 Prevailing Torque Nut
11 25338 | ETA-8 Low Headroom ET Weld.
12 54180 |3/16 x 1 1/4 Spring Pin

13 51260 |3/4-10 x 2 1/4" A325 HHB

©CoOo~NOUODWNE

RPRRPARRPRRNEARDINON

1

~—

© Copyright 2014, Unified Industries, Inc. All Rights Reserved. WwWWw.unified-ind.com

57



